A v

ay = a v d o a A d' a
UAHHUUDUALIDIFTOINIYUGIGN 5 NAANUNIIN WHNMNITYSINEYALIININU 30 U

16
14
> 12
®
T
2
= 10
=
w
b4
® 8
eV
L4
.
3 6
[
=
e 4
2
0
£ g
= N
= s
624 =3
@
s
N
@
o>
®
=
-
°@
AC?
=
Z
@
<8
=3
It

I 90 U 1A 60 Tuua 3R 90 S

v
U

30%
25%
=
—
(=)
on
20% =
=
>
@
= (a4
15% (S,
1S
=
WD
6
10% =
@
A
o
@
-
5%
0%
£ -
= g
s £
2
1] a v 4
ITIHNNAAHUN
a N R o v 1+ A 9y a4 A ad a o 1 A ¥y a A a 9 &
1N 30 U Llﬁvllll,ﬂu 607U AATIULTDITOUTIUNYALTDINY 30 IU ADITDITOUTYUNYALAINIHUA

A 9 = A a9 Z
DITDUTYUNYAUAINIHUA (%)

3%

E}



